Measurement of the acceleration due to gravity with a ticker timer

AIM

The aim of this experiment is to measure the acceleration due to gravity using a ticker timer.
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YOU WILL NEED

A ticker timer   A 12V ac power supply  Ticker tape  A small mass (say 50g) A crocodile clip and some thread  A retort stand, boss and clamp  Scissors  A ruler

WHAT TO DO

Fix the mass to one end of the ticker tape using the crocodile clip.

Set the up the ticker timer in the clamp as shown in the diagram. Using the ticker timer on its side reduces the friction between the tape and the timer.

Connect the power supply. Fit the tape into the timer. Hold onto the free end of the tape and switch on the power supply.

Release the tape. The pull of gravity on the mass will accelerate the tape through the timer.

Repeat the experiment two further times.

ANALYSIS AND CONCLUSIONS

Cut up your tape into five SPACE lengths.

Measure the length of both the first ‘five spaces’ and the eleventh ‘five spaces’.

Work out the acceleration due to gravity from the formula:

Acceleration due to gravity = [Length of the eleventh strip – length of the first strip] x10/1

Repeat this for the other two trails.

Work out an average value for the acceleration due to gravity.

What do you think is the main reason for this experiment not being very accurate?[image: image2.jpg]
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